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“Error handling is important,  
 if it obscures logic, it’s wrong.”

― Robert C. Martin, Clean Code: A 

Handbook of Agile Software Craftsmanship

Style: 

What about “error-checking”? 

https://www.goodreads.com/work/quotes/3779106
https://www.goodreads.com/work/quotes/3779106
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rackunit

hw0-Chang-Stephen/tests.rkt 
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(check-equal? (c2f 0) 32) 
(check-equal? (c2f 100) 212) 
(check-equal? (c2f -40) -40) 

(define (c2f ctemp) 
  (+ (* ctemp (/ 9 5)) 32)) 

; (c2f 0) => 32 
; (c2f 100) => 212 
; (c2f -40) => -40 (define (c2f ctemp) 

  (case 
   [(0) 32] 
   [(100) 212] 
   [(-40) -40]) 

;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 
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https://www.youtube.com/watch?v=1SlGgCxJa3w
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